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1. S = 8000 m²  

2. GOA = 329.52 gr 
GOB = 29.52 gr 
GOC = 65.59 gr 

GOD = 170.48 gr 
LOA = 44.72 m 
LOB = 89.44 m 
LOC = 116.62 m 
LOD = 44.72 m  

S = 7999.02 m²  8000 
m²

  

  
1. C (160 . 60 )     

2. S = 7200 m²  

3. GOA = 370.49 gr 
GOB = 29.51 gr 
GOD = 250 gr 
LOA = 44.72 m 
LOB = 89.44 m 
LOD = 28.28 m  

4. S = 7199.5 m²  7200 m² 
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h = Ha + 

  

Ha = 1.50 m 
i = 100 

 

V = 100  75 = 25 gr                                      
tan i =  / 50      = 50 x tan i = 50 x tan 25 = 50 x  0.41 = 20.5 m          
h = 1.50 + 20.5  
h = 22 m                                     
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75  25  )gr(  
2.41  0.41  Tang  
0.92  0.38  Sin  


